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Alr at wet-bulp temperature of 27 °C and 205
At a constant pressure of | at

! ] relah:u- humidity is r:cmllcd to 14 2C—
i . m. Use the ps§ehrometric chart to determine the
ollowing: En—
]
S

Dry-bulb temperature,

absolute humidity, dew-point temperature and
enthalpy of air entering and leaving the condenser.

4. The rate ol water condensed in the condenser.

5. The rate of heat that must be removed to deliver 600 m*/min of humid air
at the final condition. d

e—_— = W

Use as a basis of calculation 500 kg DA/min.
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